PHYSICS 322 HouR ExAm 2 APRIL 20, A0S

1) An in%m‘wb \Ong (,»kv\&r (iover radivs & 5 oud 2c radios B) s
magv\b*luc‘ in e F diveckon as shoun. Assume ¢
MK Tty wastant ia mo\@ni‘b&

(6) Find all of Ho bound curcents.
(b) Find g foc 1) sca ¢ 1) a<s<b Wi) S$>b.

2D Ths v a problem to fnd g at a point a ddtance 2 above an

infinte shed of cuetent. The Cvent K s in tte x-y plare and

moves in Te tx dicection. You ace o use tha follomv\s metbad :

(a) Ficst £iad Hu vedoe prteatia)l. If You wick o problemm
diredlé K will be M‘FMH't, S0 Keep Yowr Anser finide by
calcu\m¥v\3 foc a Enite sheet. The malh & easiest for &
dsc of mdivs R

(b) Frad —B> (awx -/S?

() Take ttw Lmd R->o0.

H oy can't do Yo ublem s described, you com get- partal

credit 4:«\&;“3 2 Sorme.  othrer Way.

4

» A Sguace il , dimmss o by 4 and ol "L ——;'v"
resistance R is pulled at comstant ve,loci‘ré gp?gco
- A v . .
v=TX ‘\'C\rouék 6 freld Had increses h‘nearb with x ,
g:(_&)‘f o X ) i .

() Frad tte dicechion of He nduced cuvcent in Ha loop.
b) Fine Hu magni'h'dz D" I. |

(¢) Howr much power s being dissipoted in e wil (P-2.1)7?

(&) Fnd fom_ neu.SScwj o pull e co;l alma.

(¢) Showr Hat He wnk dme in hwe t+ i3 e%va\\ +o Mene%
dissi poted in te il |



